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In the above equations, the constants are expressed as:
Mh?L 2bfL? 4uAl? _ q,L* fh
=, a:—’ 7/:—’ q:—, 77:_
(A+2u)l (A+2)1h (A+2u)l (A+2u)1 &L
M :M, K =(A+2u)l +4uAl?
2L
Where

> E = 107.8077¢9;
E:=1.07807710"!

> nu = (0.2565;
v :=0.256%
> epsilon := 8.85e-12;
£ :=8.851012
> q0 := 0.02;
q :=0.02
>
> f:= Se-12;
f=5.10"2
> landa = £-nu

((1+mnu)- (1 —2nu))’
landa =4.51903490810'°

miu :=4.29000000010'°

bh=1.010"
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> 1:=02h
>
3
> [ = b-h ;
12
> A:=b-h;

> L :=300e—9;

h=1510"

1:=3.010°

:=2.8125000001073

A:=15010"°



